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I Question on 3n mwn: According to N ', if there are less than 7 n»0aw who sinned, do the others bring 18?
a  Proposed proof: statement where “they bring 1 19; w”1 says that they bring 2”
i Cannot be: case where 7 tribes sinned; v would have them bring 8
ii ~ Rather: must be case where 1 tribe sinned
1  Cannot: be due to instruction of that tribe’s 772 (v"1 excludes that case from our nw1a)
2 Must be: 5y130 772 nkMN — who is p”n (who proposed that 1 is brought)?
(a) Cannot be: n" — would require 217
(b) Must be: nmn» "1 — and one tribe sinned (>he doesn’t obligate other tribes if less than 7)
iii Rejection: might be a case of 6 (majority) or 7 tribes sinning, per X”2w1 >one 19
iv  Proof: '™ — if one vaw acted per their 773, that vaw is liable, others exempt; if per %170 773, all Dvaw liable
1 Support (»wx 77): our mwn adds — “all other n'vaw are exempt” >only if it's 7”2 errs are they exempt
(a) But: if it is Yy1n 772 NN all other 02w are liable
II'  Question: According to w™, if one VAW acts per 510 773, are they liable?
a  Proposed proof: “they bring 1 19, w™ rules that they bring 2”
i Must be: case where 1 tribe sinned (if it were 7 — w"™ would require 8 n™9)
ii  And must be: )70 772 nRNN (if it were 771 of that tribe, " wouldn’t include it in our nwM9)
iii  p”m cannot be n" (requires Ynp 117), nor T’ "3 (each vVaw would bring); must be x"2v"
1 Challenge: wnon - only liable per ruling of 51730 7”2 — 0'non must be v — QED
III Question: what is source for w" and nmn '3 that one tribe is called 9np?
a  Answer: v. 1 ("W 9¥n was an enacted decree regarding »11v)
i Rejection: perhaps 5wy is Ynp due to 2 ovaw there ("Mn+pnna)
ii ~ Rather: v. 2 — only pn»1 was born after that and he is called Ynp
iii  Rejection: perhaps it means that another tribe will be born that will complete the Ynp
iv  Block: are only 12 called 5np — but 11 are not? (> the birth of pnna did not make them a Ynp; rather he is a Ynp)
IV Commentary on vv 3-9
a Nz pYynw . v aain v. 3 is superfluous; resolution: parallel to N5 >not eaten
b Similarly: *ov 'v's comment on v. 4 — N9 93n? Resolution: all not eaten
i Per: nmi "v's comment that these mxvn were brought for 1y (i.e. mn»4a nron)
ii ~ Note: per nTi1» 7, we understand why there were 12; per w™, could’ve been 11 tribes+1 for 772
1 But: per n™, should’ve been only 1 (%1730 1"2)
2 Answer: if it happened multiple times (Y®1mw — during y’p1¥’s time); now brought all the offerings at once
(a) Challenge: all of those errant judges were now dead (21 1nnw nron, should die and not be brought)
(b) Answer (892 ’7): 2% NRVN isn’t subject to MY INNY NRVN- because Max doesn't die
(i) Per:v.6
1. Rejection: if so, should apply to individual as well
(if) Rather: from yw of n™, paid for by naw>n nman, but many of the donors pass on during that year
1. Rejection: they may not have died, but in our case (2 generations later) — they were surely dead
(iii) Rather: from v. 7 — N9y n%y as N193 for mxn IRYY
1. Rejection: it is 199n for the living as well>includes the dead along with them, here — all dead
2. Block: in this case, some were still alive, per v. 7
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¢ Challenge: the people in that time were Tt — how can they bring a nxon?
d  Answer: it was a "YW nk1n — which also explains the odd numbers of offering brought
V' xn»1:if one of the community dies in the meantime, they still bring; if one of the 72 dies — exempt
a  Authored by: n”™1 — who says that only 7”2 brings, not 11ax
i Therefore: if one of Max dies, irrelevant, as onn Maxn pr
ii ~ But: if one of 171 dies, it is like pamwn nrvn when one partner dies >nnn nxron
b Challenge: why not attribute to ", who says that both 772 and max bring (and o'nn Maxn pr)
i Answer (»28): v holds that if one partner of a nxon dies, it is still brought
1 Per: his ruling re: 5”0y 5w »¥1 72 that got lost and were replaced, when found
(a) orpom: are killed
(b) w71 8”1 not killed — roam until they get a omn...
2 Challenge (901 *3): cannot bring proof from 1’113 — they are called a 5np (v. 10)
(a) Block: if so, they should count as a 13'" vaw and bring their own 18 (per v N> )
(b) Defense: none of % vaw is called Ynp per v 11
(i) Challenge: if so, we have less than 12 n»0aw
(if) Answer (»ax): v. 13 — nwIm DMaR are separate tribes
1. Challenge (837): v. 13 indicates that they are only separate for non, not for vaw-status
2. Block: they have separate 0’937 (and camps)
a.  Defense: that was just to give honor to the camps
b.  Block: each has its own ®'w)
i.  Defense: honor for the n®'w1 per 8n»»a distinguishing nnbw’s 7-day dedication from
nwn’s 12-day dedication
ii  Resolution: w™ lists the 5 mnn mron and notes that 3 of them cannot happen 71ax nxrona
1 nwvn 75x community doesn’t offer a female
2 pNVP n7A community cannot make a nMnn
3 by npw nrvr: the community doesn’t die
4 But: other two — unclear if they should die or not
(a) Response: wnann in 0INo TN — we know that the other 3 don’t apply > these two also don’t apply
(i) Therefore: wHya 1195mW NRON and MY N12YW nRVn don’t apply to Max nrovn
(ii) Challenge: can we infer a possible case from an impossible one (e.g. nron 9)?
(iif) Answer: w™ is willing to infer it within one system which either all stands or all falls together
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